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1. Consider the following income statement: (10 7)

Sales $1,000,000
Costs 590,000
Depreciation 13,000
EBIT ?
Taxes (34%) ?
Net Income ?

(1) Fill in the missing numbers and then calculate the OCF.
(2) What is the depreciation tax shield?

2. If we require a 10% real return and we expect inflation to be 8%, what is the
nominal rate? (10 77)

3. Suppose Big D, Inc. just paid a dividend of $0.50. It is expected to increase
its dividend by 2% per year. If the market requires a return of 15% on assets
of this risk, how much should the stock be selling for? (10 77)

4. Given the following two stocks A and B (1577)

Security Expected Rate of Return Beta
A 0.12 1.2
B 0.14 1.8

If the expected market rate of return is 0.09 and the risk-free rate is 0.05,
which security would be considered the better buy and why?
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5. Reactive Industries has the following capital structure. Its corporate tax rate
is 35 percent. What is its WACC? (15 77)

Security Market Value Required Rate of
Return
Debt $20 million 6%
Preferred stock $10 million 8%
Common stock $50 million 12%
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A 7 % (3 F$20,000) B = % (3% F$20,000)
#£ =X BLELE £ =X BLELE
1 7,000 1 15,000
2 8,000 2 6,000
3 9,000 3 5,000
4 10,000
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